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KAMEOERMBEIS, FHFTHRAVEAT -2 OEEERRETT
SHER. HRICEINELIBENHYETDT, HoMLHITEILEZEL,

(FMTETA238 R

1. HEEHEE
H31.1~R15 H30.1~5 H30.1~12 H30.4~H31.3 H29.4~H30.3
4F 58 (RIERE (BT4ERE) H30E R || (sozEEzsh | GiEERD)
BEr-ERTE 23,935 22,109 132,736 133,957 318,956 318,372 321,262
(4.2) (AB.7) (A0.9) (A2.3) (A 1.7) (A0.9) (A 1.4)
- 23,510 21,697 130,655 131,822 313,566 313,029 315,423
i (4.1) (A6.7) (A0.9) (A2.0) (A 15) (A0.8) (A 1.3)
— - 425 412 2,081 2,135 5,390 5,343 5,839
KA (9.3) (A9.5) (A25)|  amsn| (117 (A85)| (A 92)
= = 2,932 2,387 12,760 13,051 31,406 31,008 32,107
(13.4) (A9.1) (A2.2) 2.7) (A 1.7) (A3.4) (4.7)
T 2,780 2,219 12,122 12,156 29,145 28,969 29,889
7] (13.7) (A80) (A03) (2.2) (A 20) (A3.1) (4.7)
] = 21,014 13,226 86,369 80,793 184,483 190,452 188,418
(19.9) (A22.7) (6.9) (A0.1) (A 3.4) (1.1) (11.8)
BN 19,586 11,460 77,840 74,135 166,681 171,160 170,497
7 (18.8) (A25.3) (5.0) (A0.7) (A 4.0) 0.4) (9.7)
& i 47,881 37,722 231,865 227,801 534,845 539,832 541,787
(11.1) (A13.2) (1.8) (A1.2) (A 2.3) (A0.4) (3.2)
B E X S 78,268 13,655 255,285 246,302 472,702 496,533 522,869
(31.8) (A71.2) (3.6) (3.3) (A 10.1) (A5.0) (16.9)
2. ER RS
H31.1~R1.5 H30.1~5 H30.1~12 H30.4~H31.3 H29.4~H30.3
48 58 (RIEZRE (BT4ERE) (H30E R || (sozEEzsh | GiEERD)
= 3,775 3,717 21,900 21,103 48,630 48,984 47,603
=2 ’ ’ ’ ’ ’ ’ ’
° REET (14.1) (A0.6) (3.8) (3.5) (2.5) (2.9) (4.4)
T | mwer 5,910 5,489 27,029 25,849 64,211 64,560 62,452
A (14.9) (1.2) (4.6) (1.5) (2.5) (3.4) (1.4)
- 0 2 14 11 31 41 28
! |‘ AEET (A100.0) (A50.0) (27.3) (A15.4) (AB.1) (46.4) (A34.9)
N [ 152 168 638 895 2261 2,039 2218
7 |WEEET (7.8) (A215) (A28.7) (11.0) (2.0) (A8.1) (5.3)
7 _ 240 219 1,203 1,214 3,164 3,200 2,605
¢ | FEEF (A3.2) (A15.1) (A0.9) (28.7) (26.3) (22.8) (6.8)
A 1,428 1,766 8,529 6,658 17,802 19,292 17,921
n |[HEEEET (38.4) (A0.8) (28.1) (7.6) 2.7) (1.7) (36.1)
3. HIrHEEEFREUVERAFER M EESE KRG
H31.1~R15 H30.1~5 H30.1~12 H30.4~H31.3 H29.4~H30.3
47 58 (RIE R51) (BT 4F R HA) (HIOEFERED || HoFERE) | RIFEERLD)
B EERES 19,850 18,376 99,230 99,499 234,309 230,790 235,232
(18.6) (0.7) (A0.3) (A4.3) (A 2.4) (A1.9) (A 2.8)
e 16,855 17,748 - - - - -
H ) )
Al [R5 (A55) (53) - - - - -
ERHE 20 16 117 101 293 305 300
s lmE (53.8) (A15.8) (15.8) (A10.6) (A 0.7) 1.7) (A 2.9)




4. BHIFEREH

H31.1~R15 H30.1~5 H30.1~12 H30.4~H31.3 H29.4~H30.3

4H 55 (RIEZE FIERL) (HOERE) || HoxEERs) | GTEERD)

=% =R 1,496 1,283 6,719 6,984 16,537 16,452 18,225
(A2.1) (A10.3) (A3.8) (A7.9) (A 11.0) (A9.7) (A 29)

— 12 5 41 70 159 148 152
(A20.0) (A75.0) (A41.4) (A5.4) (A 1.2) (A2.6) (3.4)

(& - 11 9 62 90 203 182 197
: (A8.3) (A40.0) (A31.1) (125.0) (26.9) (A7.6) (38.7)

v o= 0 1 8 12 25 25 33
5 (A100.0) (0.0) (A33.3) (A25.0) (A 30.6) (A24.2) (A 67.0)
= = 130 38 484 469 1172 1,155 1,296

>~ =@ (26.2) (6.0) (3.2) (A23.4) (A 14.5) (A10.9) (A 72)

~ = 1,649 1,386 7314 7,625 18,096 17,962 19,903

= A (A0.8) (A10.6) (A41) (A8.4) (A 10.9) (A9.8) (A 3.2)
H31.1~R15 H30.1~5 H30.1~12 H30.4~H31.3 H29.4~H30.3

4F 55 (RIEZE) GIEAEE) (H30EREH || HeomEmsh | @IEERL)

R 0 0 0 0 0 0 0

L |EETE 0.0) 0.0) 0.0) 0.0) 0.0) 0.0) 0.0)
* I z 0 0 2 0 2 4 4
= (0.0) (0.0) (0.0) (A100.0) (A50.0) (0.0 (A55.6)
- 0 0 0 0 0 0 0

25 : (0.0) (0.0) (0.0) (0.0) (0.0) (0.0 (0.0)
- 0 0 0 0 0 0 1

= (0.0) (0.0) (0.0) (A100.0) (A 100.0) (A100.0) (0.0)
~ = 0 0 2 0 2 4 5

= " (0.0) (0.0) (0.0) (A100.0) (A60.0) (A20.0) (A44.4)
H31.1~R15 H30.1~5 H30.1~12 H30.4~H31.3 H29.4~H30.3

47 58 (RIEE R51) (R4 R HA) (HIOERE) || HeoZERED | RTFEERLD

- 24 29 131 142 293 277 404

E TR (A11.1) (38.1) (A7) (A107)] (A 26.8) (A31.4) (6.9)

Bl m 3 0 0 1 7 15 13 15
(A100.0) (A100.0) (A85.7) (40.0) (7.1) (A13.3) (A 31.8)

w o= 4 0 5 2 5 4 11

I (0.0) (0.0) (150.0) (A33.3) (A 54.5) (A63.6) (37.5)
A = 28 29 137 151 313 294 430

= " (0.0) (20.8) (A9.3) (A9.6) (A 26.4) (A31.6) (5.4)
H31.1~R1.5 H30.1~5 H30.1~12 H304~H31.3 | H29.4~H30.3

4H 55 (RIEZE) (BT R H3oERE) || teoEEgsh | @iEERD)

= = TR 93 96 360 380 838 775 801
(19.2) (41.2) (A5.3) (104.3) (24.7) (A3.2) (68.3)

- 9 4 32 40 98 98 92

mos (A10.0) (A63.6) (A20.0) (48.1) (6.5) (6.5) (8.2)

[i&] 3 103 65 415 367 1045 1,106 950
’ (47.1) (A41.4) (13.1) (A3.2) (4.4) (16.4) (A22)

- 0 0 1 4 8 6 8

= (0.0) (A100.0) (A75.0) (33.3) (0.0) (A25.0) (0.0)
2 = 34 27 171 136 421 449 396
- (13.3) (12.5) (25.7) (A30.3) (A 3.0) (13.4) (A 18.5)

~ = 239 192 979 927 2,410 2,434 2,247

= " (27.1) (A10.7) (5.6) (17.3) (9.2) (8.3) (10.9)




